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Accounting

QUESTION 2

NSC

NON PROFIT ORGANISATIONS

2.1

2.1.1

2.3

214

Copyright Reserved

Refreshments

Calculate the Cost of Sales on Refreshments

(54 Marks, 32 Minutes)

25400 v + 463 000 v + 295 600 v — 9 800 v — 27 800 v
=746 400 & Operation one part correct

Calculate the percentage mark-up used by the club on the sale of their
refreshments.

223 920 v X 100
7464008 1

See2.1:1
=30% ™ Operation one part correct

Give TWO possible reasons why the club has chosen the above mark-up
percentage on the refreshments it sells.

Valid explanation v'v' ¥'¥ part-mark for unclear / incomplete answer

« Members will support the club if their prices are reasonable.
¢ To raise additional income for the club.

« For members to purchase drinks while involved in club activities and not to pack
their own.

e Club not open to general public but only members.

Calculate the rate of stock turnover, for refreshments, (in days) for the year
ended 31 December 2017.

(25 400v + 27 800v)/2 X 365
See 2.1.1746 40014 1
26 600 X 365
746 400 1

=13 Qm<mm_ Operation one part correct

Do you feel that the above stock turnover rate on refreshments is satisfactory?
Give a reason for your answer.

Yes / Nov

¢ Small quantities can be purchased more often to ensure that the correct type of
refreshment is in stock at all times.v' v’

e The club might not have the facilities to store refreshments in larger quantities.
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Accounting

2.2 Membership Fees

NSC

Common Test June 2018

2.2.1 Calculate the following:
a) The number of members in the club at the end of 2017. (4)
20 v+ 12 v -2V
=250 M Operation one part correct
b) The amount for membership fees that would appear in the Statement of (3)
Income and Expenditure for the year ended 31 December 2017.
See 2.2.1
250 4 X 600 v
=150 000 M Operation one part correct
(26)
222 Membership Fees
2017 | 1 | Accrued GJ 2750] 2017 | 1 | Deferred GJ 2 400
Jan | ¥ | Incomev vv | Jan | ¥ |Incomev v
2017 | 31 GJ 2017 | 31 GJ | 148 050
Dec | v | Deferred 36001 Dec | v | Bankv ol
Incomev” v Balancing
figure
Income & GJ| 150 000 Lo GJ 600
Expenditurev’ Operation[¥] Hengrarium v
Accrued GJ 4200
Incomev’ v
Membership Fees | GJ 1100
Written Offv v
156 350 M Both figures 156 350

Copyright Reserved
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Accounting

QUESTION 4

NSC

PARTNERSHIPS — FINANCIAL STATEMENTS

4.1

4.21

4.2.2

(73 Marks, 44 Minutes)

1on Test June 2018

Income Statement for the year ended 28 February 2018 (48)
Sales (9 472 000v — 70 000~ — 1 680v) 9 400 320+
Cost of sales (6 715 700+ — 1 200v) (6 714 500)v
Gross profit Operation 2 685 820#
Other operating income Operation 150 940
Bad debts recovered 3 860+
Rent income (153 120+ - 11 040¥¥) 142 080v
Trading Stock Surplus 5000vv
Gross income Operation 2 836 760
Other operating expenses (1434 074)4
Salaries and employers contribution 926 687
Consumable Stores (13 600¥ — 1 340v) 12 260v
Sundry expenses (123 400v — 4 000+ ¥) 119 400v
Bad debis (12 100+ + 1 260v'¥) 13 360v
Water and Electricity (150 330~ + 12 600v) 162 930+
Provision for Bad Debts Adjustment 2 8634
Loss due to Theft (18 000+ — 16 000+) 2 000+
Depreciation 194 574+
Operating profit Cperation 1402 686
Interest income (27 000~ + 9 300+ + 15 075+ ) 51 375v
Operating profit before interest expense Operation 1454 061
Interest expenses (30 030)v
Net profit for the year Operation 1424 0314
Inventories {7)
Trading Stock (1 534 000+ — 1200 — 18 000+ + 5 000v) 1519 800
Consumable Stores on Hand 13407
Operation one part correct 1521 1404
Trade and Other Receivables
Trade debtors (280 200+ — 1 680v'— 1 260¥) 277 260v | (14)
Less provision for bad debts (11 000+ + 2 863v) (13 863)v
Net trade debtors Cperation 263 397K
Accrued Income (16 000v'v + 15 075v') 31075+
Deferred Expenses 4 000~
Operation one part correct 298 472

Copyright Reserved
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Accounting NSC Common Test June 2018
4.3 Identify TWO possible reasons why the Rent Income decreased by 8% on (4)
1 January 2018.
Valid explanation v'v* v~ part-mark for unclear / incomplete answer
= The size of the property being occupied has decreased.
« The tenant cannot afford such a high rent so it has been renegotiated.
e The building is not well maintained so a decrease will ensure the current tenant
do not relocate.
QUESTION 5 (50 Marks, 30 Minutes)
TANGIBLE ASSETS
541 (12)
Accumulated Depreciation on Equipment
2016 Asset | 12400 2016 208 600
Dec 31 Disposaly’ GJ v | July 1 | Balance b/d v
2016 2 e 1400
v
Dec 31 | Depreciation GJ s
2017 266 400 | 2017 — 68 800
v
e 30 | Balance c/d | Juie 30 | Depreciation GJ S
278 800 M Both figures 278 800
2047 1 | Balance b/d 208400
July |
51.2 (12)
Asset Disposal
Accumulated
2016 ; 28000 § 2016 Depreciation : 12 400
v
Dec 31 | Equipment GJ v | Dec 31 Equipment ¥ GJ ferabiod
(11 000+ + 1 400v)
Drawings: Gugu v/ GJ | 15 000v
Loss on Sale of Assetv’ | GJ | 600vH
28 000 (] Both figures 28 000
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